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Pre-Calculus Chapter P Finals Questions
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L. Use the function f(x) = x3 — 12x2 + 44x — 48 to answer the following questions

{
\

a. Find one of the 3 x intercepts of the function b. Find the local maximum of the function

X2 %, b X=27 845 29¢%
Y= Z.o0791 214
c. Use “intersect” to find the value of x when y = 20 (i.e. solve the equation f(x) = x3 — 12x? + 42x — 38 = 20)
7= 7-2(8 )Y
b = g

2. Write an equation for a circle centered at ( 5,-2) with radius 3. Then convert the equation into y = form

(K= )" +(y+2)*=

c — o~ 4 ) — 2
)= Z’JQ‘CKé)
3. Solve the equation 3x2 + 5x — 12 = 0 by any method. (factor, quadratic formula, graph)

(3< — D(x +2)

4. Solve the equation using “intersect”: [x + 1| = —%x + 3 (find both solutions)

X*——é Xe=[-288 £ oopm .
( -9, ‘}) y.:_ 2_333’—‘ ("'23} 2“?3 )

5. . Solve using the quadratic formula (imaginary solutions): x? — 7x 4+ 15 = 0

= 7w 40sy 7 1 o
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1. Solve the equation. Find 1 real solution and 2 imaginary solutions: 2x3 + 5x2 + 8x = 0

X=0 Vv K(ZKL S +£> ~

$ = =5, 7/T~‘{(L768) T } 25 — oy

-
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z(2)

2. The table below represents a quadratic function: .
; t ] v Pz
X N .5 .

4 12 <;; T

5 16.5 L U5 D

6 22 L5 > W
6.5

7 28.5 4 il > F

8 26 & o D

9 44.5 g5

a. To the right of the y column, show that the second differences are constant Seq
b. Using regressions, find an equation for the function
Sef-o A+ Lo Le Stet — Cele — LuAd Ppeg
Z G .
‘f - ‘3 = o XT vOX L{

§
c. Using your answer from part B, find x if y = 500

. 7(-:% oz | . ) ~ a
, .( %é_cz\ sico.  TFlHtboz @_
‘j = 5CO ‘?é_g\,q‘/g,q_ ot .. ijz WLQDF/\j
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3. For each function below, find the domain. Write your answer in interval notation:

L fG) =Vx—5 . bgm=2 ¢ h(x) =22 d.p(0) =% |
| e

o Corin e D9Gm (o

- Use the graphing calculator to find the range of the function f(x) = —16x? + 125x 4+ 30 Write your answer in

1terval notation. P
| X =% Q062505 27 T, Mak

W A 1406y



5. Use the graphing calculator to find the range of the function f(x) =

(;(IJ) ——LZ(] v (O, @)

5b. Verify algebraically thaty = -1 is not in the range.

A= £ (x* D= o NoT

f--z,,l,( .)(7__,,,(: -5 ‘/{7—6%
¥ Tz =\ )L"”{"b

6. For each function, identify any points of discontinuity. Then state whether the discontinuity is removable (hole) or
infinite (asymptote). If the function has more than 1 discontinuity, name each one individually

0. F0) = x2=7x+12 (w B ) = x2+x—3o (xw)(_)(—s-) & Bil) = = X
(<-3) (<65 ot () (%)
H‘O\Q ad- X=732 lAYC\jMP‘S‘dR | A(’ijPHJ'{E Q"‘

at- X= 0 Xz 2

' Le ~ 2=
2] By 55
7. Identify the intervals on which the function is increasing and decreasing. Write answer in interval notation:
xm=2l _ -ge

a.f(x) = —5x*+32x+8 - Z(,'S‘) = ——[; .gx) =x3—7x?*+8x+5
\Creqsing = (_,o% 2_13 S Bz /w\crgqgm} A (‘m) 4@%)

&QC&QSx;\j (2.2, o) (3»‘??‘?) )

| decressng = (6%, 3.409)

8. letf(x) =2x*>+7 andg(x) =vx—3

a. Write an equation for f(g(x)) and simplify b. Find the domain of f(g(x)). Write your answer in interval notation

Fegom=2(lx5) "« F X7 3 |

[z,

Z(x-3) 3L
=72x—b t T

~([Zx =]
c. Write an equation for g{f(x)) and simplify b. Find the domain of g(f(x)). Write your answer in interval notation
C"E C?‘ - \5' "9 7
9 N= J(22 et D -2 (-, @2)
- m + i
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9. For each question below, find f(x) and g(x) such that f(g(x)) = h(x) (decompose the function)

a. h(x) =3 +2)3—-7(+2)2+2 b. h(x) = Ln(x? —9) c. h(x) = tan(+/2x)
Tz 2 X'Z-J%Xj’ixz/ T Ln (%) Sy dan C}()
9(5{) % (X*Z) 3C7<>: =9 j(x) = J2x

10. For each function below, write an equation for the inverse function:

2. f(x) =2x2—7 b. g(x) = zs c. h(x) = 25(1.2°
Y= 26t -+ . R F= 900 | y=1> (‘1)
K= 4y F ks - 23X x=25 (! @
x=_ 3~ -
K-F _ % Y43 . oo ¥
7 - ’ PN - — = 1 7
- - k(}j TB) =y - . 25
-t _ _ K & T = \/——————/ XN
"F (K) \ X 27‘7 \? j \05.(’1(_15* -

2Fx = \jz)ﬂj )
L. p(x) = cos(x?) e.r(x) =v2x+1 s e " X
AN e N N G EY

T | cos Tk
= Ces Cj’> F C > = \F’—j-_:( - —
3 C)()'.’, j7/ %

. '~y
Y= J cos™ (xy ' _ x

1. Transform the function f(x) = x? by dilating the furi ctionéorizonta”y by a factor of 2, shifting left 3 units, and
*flecting across the x axis. Write your new function in g(x) notation

© OF) &3y O -(2)

). Transform the function f(x) = +/x by dilating vertically by a factor of 4, dllatmg honzontally bv a factor of1/3 and

ifting-up-5-units—=Write-your-new-function-in-g(x)-notation——

@Jj D 4Jx ) A CI/D @%t’;>+*
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. Find the maximum vehsme of a rectangle inscribed in the parabola y=81—x2

N AR 2 (210
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